' 3985 S. Fletcher Road e Chelsea, Ml 48118
(800) 396-4642 e Fax (734) 428-7672
www.greenemfg.com

Greene Manufacturing, ([ Loy |

CBL-120-18 Series Work Bench

TOOLS REQUIRED FOR ASSEMBLY
Socket set, Open end wrench set, Cordless drill with
3/8" socket bit (Magnetic recommended).

BEFORE ASSEMBLING THE WORKBENCH
Assembly of this bench will require 2 people.
Read through the assembly instructions to
familiarize yourself with the order in which the
parts are assembled. We suggest that you clear
& vacuum the area where the bench is to be
assembled. It is important that the bench is
assembled in the same sequence as instructed.

HARDWARE
All assembly hardware is provided.

**Units are difficult to move once assembled.
Begin assembly near the bench's final location**

Begin by assembling three of the base cabinets together on one of the three riser sections. Set the riser on the floor
and position three of the base cabinets on top of the riser. Lockers with number plates should be arranged in their
desired order.

STEP 1

The cabinets will bolt to each other using 3/8 x 1/2” hex head bolts and nylock nuts. Finger tighten the three cabinets
together at first. Once finished position the cabinets on the riser so the holes in the bottom of the cabinets line up with
the pre-installed nuts on the riser base. Attach to the riser using 1/4-20 x 1/2” Flange head bolts. Now tighten all bolts.

Repeat these steps for the remaining sections of three cabinets and riser sections. Once assembled, position the three
sections together and bolt both halves together using (4) 3/8 x 1/2” hex head bolts and nylock nuts.

—
N, —
L} ' .
' [ BN [ []
[ L]
O -
S— 3/8-x1/2"
Hex Head Bolt
. | =
' o . . Nylock Nut
. .
_ ]
° _—
Pre-Installed Threaded
Nuts ¢
1/4-20 x 1/2"

Flange Head Bolt




' 3985 S. Fletcher Road e Chelsea, Ml 48118
(800) 396-4642 e Fax (734) 428-7672
www.greenemfg.com

Greene Manufacturing, Inc.

Place the top on the row of cabinets. Center the top
left-to-right. Adjust top to desired location
@, frontto-back.

h Attach using (4) #10 x 1" Lag Screws per cabinet.

()]




	CBL-120-18 Series Work Benches
	CBL-120-18 Series Work Benches2

